Q1 The bending moment diagram of the beam
shown in the figure is
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Q4 Which one of the following statement is
correct?
a. Shear force is the first derivative of bending
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b. Shear force is the first derivative of intensity
of load

c. Load intensity on a beam is the first
derivative of bending moment.

d. Bending moment is the first derivative of

shear force.
Q5 For the beam sho h RN “gure, the
maximum positive be d oment is al to
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atch List-1 (Type and position of force on
er) with List-1l (Shape of moment diagram
antilever) and select the correct answer using
codes given below the lists:
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Codes :
a. A-1,B-2,C-3,D-4

b. A-4,B-3,C-2,D-1
c. A-3,B-1,C-4,D-2
d A-1,B-3,C-4,D-2
Q8 If the area under t ar curve for a beam

between the tow pt

difference betwee
»

X1 and Xz will be € :

Q9

A simp g pbeam is s cted to a co
somewhere.i oduce
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' QU' varying 1. Parabola
-/ its free end 2. Rectangle
at the fixed end 3. Cubic

to uniformly parabola
d load 4. Triangle
ing concentrated load

s free end
hose free end is
subjected to a couple
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The corresponding SFD and BMD would be

(a) 30 kNE
SFD e 30 kN
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Q13 The bending moments at point A, B and C of
the beam shown in the given figure will be
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The magnitude of reaction at R will be zero if the
value of load
‘W is

a. 2kN
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Q16 The beam shown in the figure given below
is subjected to concentrated load and clockwise
couple. What is the vertical reaction at A?
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Vhat is maximum

A cantilever beam AB carries loading as

own in figure below, which of the following is the
SFD for the beam ?
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